

# Bid 132-2020 Addendum 4 TRIBUTE CONTRACTING Supplier Response

#### **Event Information**

Number: Bid 132-2020 Addendum 4
Title: Wolf Run Trunks D and E

Type: Competitive Bid

Issue Date: 1/8/2021

Deadline: 2/4/2021 02:00 PM (ET)

#### **Contact Information**

Contact: Brian Marcum Address: Central Purchasing

Government Center Building

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320 Fax: (859) 2583322

Email: brianm@lexingtonky.gov

Page 1 of 8 pages Vendor: TRIBUTE CONTRACTING Bid 132-2020 Addendum 4

## **TRIBUTE CONTRACTING Information**

Address: 2125 COUNTY ROAD 1

SOUTH POINT, OH 45680

Phone: (740) 451-1010

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

Todd Harrah	tharrah88@yahoo.com
Signature	Email
Submitted at 2/4/2021 11:54:42 AM	

# **Response Attachments**

# Wolf Run D&E Addendum Acknowledgements.pdf

Addendums 1-4 Acknowledgements

### Wolf Run D & E Bid Bond.pdf

Bid Bond

## Wolf Run D & E Bid Packet Docs.pdf

Bid Opening Requirements and Documents

#### **Bid Lines**

1	Mobilization					
	Quantity: 1	UOM: LS	Price:	\$32,800.00	Total:	\$32,800.00
2	Bonds and Insu	ırance				
	Quantity: 1	UOM: LS	Price:	\$150,000.00	Total:	\$150,000.00
3	General Requir	rements				
	Quantity: 1	UOM: LS	Price:	\$263,000.00	Total:	\$263,000.00
4	Demobilization					
	Quantity: 1	UOM: LS	Price:	\$4,000.00	Total:	\$4,000.00
5	Erosion and Se	ediment Control and Conformance wit	h SWPP	P		
	Quantity: 1	UOM: LS	Price:	\$27,000.00	Total:	\$27,000.00
6	6" Gravity Sew	er Lateral (PVC - SDR 35, All Depths)				
	Quantity: 280	UOM: LF	Price:	\$60.00	Total:	\$16,800.00
7	36" Gravity Sev	ver Pipe - Dig & Replace <10' (DIP, P\	/C, FRP,	PCCP, PP)		
	Quantity: 303	UOM: LF	Price:	\$210.00	Total:	\$63,630.00

Page 2 of 8 pages Vendor: TRIBUTE CONTRACTING Bid 132-2020 Addendum 4

8	30" Gravity Sewer Pipe - Dig & Replace <10' (DIP, PVC, FRP, PCCP, PP)		
	Quantity: 630         UOM: LF         Price: \$180.00	Total:	\$113,400.00
9	27" Gravity Sewer Pipe - Dig & Replace <10' (DIP, PVC, FRP, PCCP)		
	Quantity: 1540         UOM: LF         Price: \$127.00	Total:	\$195,580.00
1	30" Gravity Sewer Pipe - Dig & Replace ?10' (DIP, PVC, FRP, PCCP, PP)		
0	Quantity: 173         UOM: LF         Price: \$190.00	Total:	\$32,870.00
1	27" Gravity Sewer Pipe - Dig & Replace ?10' (DIP, PVC, FRP, PCCP)		
1	Quantity: 10         UOM: LF         Price: \$160.00	Total:	\$1,600.00
1	30" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP, PP)		
2	Quantity:         1521         UOM:         LF         Price:         \$193.00	Total:	\$293,553.00
1	27" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
3	Quantity:         994         UOM:         LF         Price:         \$218.00	Total:	\$216,692.00
1	24" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
4	Quantity:         680         UOM:         LF         Price:         \$194.00	Total:	\$131,920.00
1	18" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
5	Quantity: 126         UOM: LF         Price: \$150.00	Total:	\$18,900.00
1	12" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
6	Quantity: 118         UOM: LF         Price: \$111.00	Total:	\$13,098.00
1	10" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
7	Quantity: 195         UOM: LF         Price: \$125.00	Total:	\$24,375.00
1	8" Gravity Sewer Pipe - Open Cut <10' (DIP, PVC, FRP, PCCP)		
8	Quantity: 47         UOM: LF         Price: \$92.00	Total:	\$4,324.00
1	30" Gravity Sewer Pipe - Open Cut ?10' (DIP, PVC, FRP, PCCP, PP)		
9	Quantity: 66         UOM: LF         Price: \$210.00	Total:	\$13,860.00
2	27" Gravity Sewer Pipe - Open Cut ?10' (DIP, PVC, FRP, PCCP)		
0	Quantity: 680         UOM: LF         Price: \$220.00	Total:	\$149,600.00
2	24" Gravity Sewer Pipe - Open Cut ?10' (DIP, PVC, FRP, PCCP)		
1	Quantity: 433         UOM: LF         Price: \$224.00	Total:	\$96,992.00
2	Insert-A-Tee, All Sizes		
2	Quantity: 18 UOM: Each Unit Price: \$400.00	Total:	\$7,200.00
2	Reconnect Existing Gravity Sewer (36")		
3	Quantity: 1 UOM: Each Unit Price: \$6,000.00	Total:	\$6,000.00

2				
4	Quantity: 17 UOM: Each Unit Price:	\$400.00	Total:	\$6,800.00
2 5	2 Install 6" Cleanout in Pavement			
5	Quantity: 5 UOM: Each Unit Price:	\$650.00	Total:	\$3,250.00
2	2 Abandon Manhole in Place (All Sizes, All Depths)			
6	Quantity: 7 UOM: Each Unit Price:	\$800.00	Total:	\$5,600.00
2 7	Removal of Existing Manhole (All Sizes) MH #WR2_100A; MI MH # WR3_3	H #WR2_101A; MH # V	VR3_10	A, MH# WR3_10B &
	Quantity: 5 UOM: Each Unit Price:	\$800.00	Total:	\$4,000.00
2	2 Install 4' Dia. Manhole (6' Deep)			
8	Quantity: 25 UOM: Each Unit Price:	\$3,000.00	Total:	\$75,000.00
2	2 Install 5' Dia. Manhole (6' Deep)			
9	Quantity: 16 UOM: Each Unit Price:	\$4,500.00	Total:	\$72,000.00
3	3 Install 6' Dia. Manhole (6' Deep)			
0	Quantity: 2 UOM: Each Unit Price:	\$8,000.00	Total:	\$16,000.00
3	3 Install Barrel Extension for 4' Dia. Manhole			
•	Quantity: 74 UOM: Vertical Linear Feet Price:	\$200.00	Total:	\$14,800.00
3 2	3 Install Barrel Extension for 5' Dia. Manhole			,
	Quantity: 63 UOM: Vertical Linear Feet Price:	\$300.00	Total:	\$18,900.00
3	3 Install Barrel Extension for 6' Dia. Manhole	,	,	,
	Quantity: 3 UOM: Vertical Linear Feet Price:	\$400.00	Total:	\$1,200.00
3 4	3 Internal Drop Manhole Connection (4")			
	Quantity: 1 UOM: Each Unit Price:	\$600.00	Total:	\$600.00
3 5	3 Internal Drop Manhole Connection (10")	,	,	
	Quantity: 1 UOM: Each Unit Price:	\$1,400.00	Total:	\$1,400.00
3	3 Internal Drop Manhole Connection (18") (DIP, PVC)		ı	
	Quantity: 1 UOM: Each Unit Price:	\$1,800.00	Total:	\$1,800.00
3	3 External Drop Manhole Connection (10") (DIP, PVC)			
	Quantity: 3 UOM: Each Unit Price:	\$3,000.00	Total:	\$9,000.00
3	3 External Drop Manhole Connection (12") (DIP, PVC)			
8	Quantity: 1 UOM: Each Unit Price:	\$3,000.00	Total:	\$3,000.00

3 9	External Drop Manhole Connection (18") (DIP, PV	/C)			
9	Quantity: 1 UOM: Each	Unit Price:	\$4,000.00	Total:	\$4,000.00
4	Manhole Accessories for Locations within 100 Ye	ar Floodplain		_	
U	Quantity: 43 UOM: Each	Unit Price:	\$650.00	Total:	\$27,950.00
4	Reconnect Existing Sewer Sevice to New Manho	le		_	
'	Quantity: 4 UOM: Each	Unit Price:	\$500.00	Total:	\$2,000.00
4 2	Reconnect Existing 21" Sewer to New Manhole			_	
	Quantity: 2 UOM: Each	Unit Price:	\$2,000.00	Total:	\$4,000.00
4	Reconnect Existing 18" Sewer to New Manhole			_	
3	Quantity: 3 UOM: Each	Unit Price:	\$2,000.00	Total:	\$6,000.00
4	Reconnect Existing 12" Sewer to New Manhole			_	
4	Quantity: 2 UOM: Each	Unit Price:	\$1,200.00	Total:	\$2,400.00
4 5	Reconnect Existing 10" Sewer to New Manhole			-	
3	Quantity: 5 UOM: Each	Unit Price:	\$1,000.00	Total:	\$5,000.00
4	Reconnect Existing 8" Sewer to New Manhole	_		Г	
0	Quantity: 4 UOM: Each	Unit Price:	\$800.00	Total:	\$3,200.00
4 7	Cut and Cap Existing Sewer (4")	_		Г	
•	Quantity: 1 UOM: Each	Unit Price:	\$500.00	Total:	\$500.00
4 8	Cut and Cap Existing Sewer (8")	_		F	
	Quantity: 4 UOM: Each	Unit Price:	\$500.00	Total:	\$2,000.00
4 9	Cut and Cap Existing Sewer (10")			г	
	Quantity: 3 UOM: Each	Unit Price:	\$800.00	Total:	\$2,400.00
5	Cut and Cap Existing Sewer (12")				
	Quantity: 1 UOM: Each	Unit Price:	\$800.00	Total:	\$800.00
5	Cut and Cap Existing Sewer (18")	_		F	
	Quantity: 3 UOM: Each	Unit Price:	\$1,000.00	Total:	\$3,000.00
5 2	Cut and Cap Existing Sewer (21")			г	
	Quantity: 13 UOM: Each	Unit Price:	\$1,200.00	Total:	\$15,600.00
5	Pipe Abandonment, Safeload (21")			г	
	Quantity: 312 UOM: LF	Price:	\$60.00	Total:	\$18,720.00
5 4	Plug Manhole Inlet (10")			г	
	Quantity: 1 UOM: Each	Unit Price:	\$600.00	Total:	\$600.00

5	Plug Manhole Inlet (12")				
3	Quantity: 1 UOM: Each	Unit Price:	\$600.00	Total:	\$600.00
5	Creek Crossing				
0	Quantity: 3 UOM: Each	Unit Price:	\$21,700.00	Total:	\$65,100.00
5	Video Inspection of New Sewer Pipe				
/	Quantity: 7517 UOM: LF	Price:	\$3.00	Total:	\$22,551.00
5	Bituminous Concrete: Trench Construction, Stre	et			
O	Quantity: 696 UOM: SY	Price:	\$80.00	Total:	\$55,680.00
5 9	Bituminous Concrete: Driveways				
9	Quantity: 131 UOM: SY	Price:	\$90.00	Total:	\$11,790.00
6	Bituminous Concrete: Private Parking Lot				
0	Quantity: 3373 UOM: SY	Price:	\$24.00	Total:	\$80,952.00
6	Asphalt Pavement Patch				
1	Quantity: 100 UOM: SY	Price:	\$24.00	Total:	\$2,400.00
6 2	Miscellaneous Roadway/Parking Lot Markings				
2	Quantity: 1 UOM: LS	Price:	\$4,000.00	Total:	\$4,000.00
6	Storm Sewer Removal And Replacement < 18"				
3	Quantity: 20 UOM: LF	Price:	\$100.00	Total:	\$2,000.00
6	Precast Concrete Headwall				
4	Quantity: 1 UOM: Each	Unit Price:	\$2,500.00	Total:	\$2,500.00
6 5	Remove And Replace Curb Box Inlet				
5	Quantity: 1 UOM: Each	Unit Price:	\$1,000.00	Total:	\$1,000.00
6	Seeding, Temporary, Extra As Directed By Engin	ieer			
6	Quantity: 50 UOM: SY	Price:	\$3.00	Total:	\$150.00
6	Site Restoration, Method A				
7	Quantity: 200 UOM: SY	Price:	\$3.00	Total:	\$600.00
6	Site Restoration, Method B				
8	Quantity: 16700 UOM: SY	Price:	\$2.00	Total:	\$33,400.00
6	Site Restoration, Method C				
9	Quantity: 200 UOM: SY	Price:	\$7.00	Total:	\$1,400.00
7	Line deleted as part of an Addendum				
0					

7	Monolithic Concrete Curb And Gutter Removal And Replacement					
1	Quantity: 60 UOM: LF	Price:	\$35.00	Total:	\$2,100.00	
7 2	Concrete Curb Removal And Replacement					
	Quantity: 95 UOM: LF	Price:	\$30.00	Total:	\$2,850.00	
7	Bituminous Curb Removal And Replacement			F		
3	Quantity: 60 UOM: LF	Price:	\$20.00	Total:	\$1,200.00	
7	Dense Graded Aggregate - Dga, Extra As Directed	By Engineer		F		
•	Quantity: 100 UOM: TN	Price:	\$20.00	Total:	\$2,000.00	
7 5	No. 9 Crushed Stone, Extra As Directed By Engine	er		г		
	Quantity: 100 UOM: TN	Price:	\$20.00	Total:	\$2,000.00	
7	No. 57 Crushed Stone, Extra As Directed By Engin			г		
	Quantity: 100 UOM: TN	Price:	\$20.00	Total:	\$2,000.00	
7 7	No. 2 Crushed Stone, Extra As Directed By Engine	er		Г		
	Quantity: 100 UOM: TN	Price:	\$20.00	Total:	\$2,000.00	
7 8	Flowable (Controlled Density) Fill			Г		
	Quantity: 150 UOM: CY	Price:	\$100.00	Total:	\$15,000.00	
7 9	Concrete Sidewalk Replacement		Фор ор	[	<b>*</b> 40.000.00	
	Quantity: 181 UOM: SY	Price:	\$60.00	Total:	\$10,860.00	
8	Portland Cement Concrete Paving: Private Parking			<b>-</b> [	¢000 00	
	Quantity: 8 UOM: SY	Price:	\$110.00	Total:	\$880.00	
8	Recreational Park Asphalt Sidewalk	Drice	\$30.00	Total:	\$14,460.00	
	Quantity: 482 UOM: SY	Price:	φ30.00	Total.	\$14,460.00	
8 2	Sidewalk Ramps, Including Detectable Warnings  Quantity: 5 UOM: Each	Unit Price:	\$2,000.00	Total:	\$10,000.00	
0		Offit Price.	Ψ2,000.00	TOtal.	\$10,000.00	
8	4' Chain Link Fence Replacement  Quantity: 80 UOM: LF	Price:	\$20.00	Total:	\$1,600.00	
0		1 1106	Ψ20.00	i otal.	ψ1,000.00	
8 4	8' Wooden Privacy Fence Replacement  Quantity: 10 UOM: LF	Price:	\$30.00	Total:	\$300.00	
Q	Bypass Pumping & Setup	. 1100.	<del>+30.00</del>	. 5.01.	<del>+300.00</del>	
<b>8 5</b>	Quantity: 1 UOM: LS	Price:	\$125,000.00	Total:	\$125,000.00	
8	SSO Site Cleanup		. , -		. , ,	
8	'	Unit Price:	\$200.00	Total:	\$4,000.00	
			Ţ=30.00	. 5.011	+ .,500.00	

8 7	Maintenance of Traffic				
7	Quantity: 1 UOM: LS	Price:	\$10,000.00	Total:	\$10,000.00
8	Miscellaneous Site Improvements				
8	Quantity: 1 UOM: LS	Allowance:	\$300,000.00	Total:	\$300,000.00
8	Connect New 10" Sewer to Existing Manhole				
9	Quantity: 1 UOM: EA	Unit Price:	\$2,000.00	Total:	\$2,000.00
9	Clearing and Grubbing				
U	Quantity: 1 UOM: LS	Price:	\$20,000.00	Total:	\$20,000.00
9	ADDITIVE ALTERNATE NO. 1 - Option to use Consewer, Item 1 - 18" Cured-In-Place Pipe (CIPP)  (Line excluded from response total)	ured-In-Place P	ipe (CIPP) for segm	ents of e	existing gravity
	Quantity: 1070 UOM: LF	Price:	\$110.00	Total:	\$117,700.00
9 2	ADDITIVE ALTERNATE NO. 1 - Option to use Consewer, Item 2 - 21" Cured-In-Place Pipe (CIPP) (Line excluded from response total)	ured-In-Place P	ipe (CIPP) for segm	ents of e	existing gravity
	Quantity: 360 UOM: LF	Price:	\$130.00	Total:	\$46,800.00

**Response Total:** \$3,021,087.00

Page 8 of 8 pages Vendor: TRIBUTE CONTRACTING Bid 132-2020 Addendum 4